¥ R 245F E 5566

EREFFR

— —— THAAKE - HEERE
® > . L |enBILrBAOKEH| - .
‘ I
TBFNRTybR—ILEFIE P
o i
FRI245F6 A9 (1) — s
SWFETRRESREHEE 60 A
B7 Ay E2[EE; i
50 3
F—LA F—LB B ,:7-"/
18 1st 20 B/ 4 7 /
3 3 2 Y
tHBAx%| 7H 13 e 15 64 M PR 5 i
== =
€29 29 w17 (F=)) e
15 4h 12 PR Ty
20 7
1
E 3P 75 T TRSOF 10 Y .
Fel YN . 095 |pr ] .
s E & s [ 5ol oelam 86 Law [#e 1= P or | or 177 72| Lok P P /
7] 0 )
g ii §i 19 2 2 6 13 ! ! 0 0 3 4 8 8 8 0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40
6 |EX 5 11| 3 9 1 4 0 2 0 2 5 4 1 0 2
7 |Em BEF 23 | o 0 | 10| 16 | 3 5 2 2 9 5 5 0 8 ® 8 N )
8 |RE BE 5 | o 1 5 | 15| 5 6 3 6 6 1 4 0 5
9_[EW m= 2 0 2 1 1 0 0 1 1 1 0 0 0 1
10 |[x8 B B ZT
= z=
:; Eﬁ %'3% g ? g (‘) (2) g g g g ; ; g } F1P WAREREN—TTY—T, DREXEA—LO— oY —<  TRAMS. F
s TEE Bt BRI T BANREEEN LT LA TIRHE A, HTH LB #7HE, #85
14 [R3 == B AtV A—DRDOH T LATHERT S, LHE TR E)—VTLANE3—2
5 [Em =5 J—UlCEibEt MEDQIRANSOEEAEEL, 12— 8EFET D, COASAF—LDHTS
16 |E@ = B, #7HEANERTHRAZRITEADERLLSIN., HE#ANENIPTH—E—rER
17 |mE & &, 20— 18Hm2R)—FTIPET,
18 |#E)Il EH
a—F|= A @ i - - e — - 112 362 — — - = F2P MF—LELICBENELBANBULRNOA HEEHTER. #OKTH, L+
e T To0n AT a4 SRIZE. #4EAMNESAEEIT. 35— 31M4 5 —FTHIEKT,
FE3P MEE#7ERIDIATIVREZRHL. REZTRETEHN. RYUSHTHIEENS
= = 5 2 = TRESR — TrINED, TRIEOMEREET  ALFAFERDISHSD BV LIFERD, L4
= E & s [Fm wslmm [ g lmm I anl™ o [ or 177N 722 Davk P24 4—420)2)?2%(:5%&')?5\:97‘5&:7)'6\ fﬁﬁ#7.%%7‘)“7]'?13/‘277'7)L&HXBhiEi%&\Uéc
4 [hiE B 12 2 3 3 10 0 0 2 3 2 2 2 0 2 THEFISTHAUYARITR—ILEESD . BREERHERITKD, /. Li#HE8H)—FT3P
5 |t & 4 0 1 2 9 0 0 1 2 8 2 1 0 2 BT,
6 |mi = 13 | 2 7 2 8 3 4 3 0 7 3 0 0 7
7|58 = 161 01 01 8 | 183101 01 51 1 ] 7} 1 0 1 1 FAP BV EFEVMERTAIIURE2—3Y—VF B, L #6ERDIPLETE
SRR T2 R ST, A EA — L a— Mo TA T REER MU E YR RIS DA, B ANERUR
TR T W REFFTH#OERDSPERD, 11 RETHEITY 1=,
11 |28 =@k 5 1 3 1 1 0 0 0 1 0 1 1 0 2
12 |Bh &= 0 0 0 0 1 0 0 0 0 2 2 0 1 1
13 |3t ®F 0 0 0 0 0 0 0 1 0 0 0 0 0 0
14 |58 BE
15_|h% 535 0 0 0 0 1 0 0 0 0 0 0 0 0 1
16 |55 k#vE
17 |5 am
18| A4 B2 3 1 1 0 0 0 0 0 0 0 1 0 0 0
—5|a & B = 3 0 0
64 | 6 | 20 | 21 | 51 | 4 6 | 15 | 12 | 27 | 12| 6 3 25
TE | 30.0% 71.2% 66.7% 5 39

miE RE B OB| BN ER BAE| HLUA HEKE




